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Pad users:If you are havingtrouble opening the New Clarion,hold your finger on it to display a menu,
thenselect�open in new tab".You will find the new tab to the right of the SAM1066 tab.
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Water  Rally
Ever since the first unwelcome splash scuttled the holidaymaking primitive back to the shelter
of his cave, man has viewed Mother Nature’s haphazard dispensation of the cool refreshing
with a somewhat baleful eye. Not that he has tolerated her feminine-like habit of turning on the
waterworks in the most inappropriate places at the most inconvenient times without vigorous
opposition. Far from it. Through countless centuries of dessicated crops and wet weekends he
has tried every conceivable means of spot-landing the celestial splosh to his better advantage.
Every dry spell has seen some enterprising johnny shinning up the local mountain with a pocket
full of assorted rain-bait, while his less energetic counterpart has been content to invoke the
rain gods from a safer level.
Unhappily,  their zealous  efforts  have  met  with  no greater success than the well-tried
experiment of bombarding the cloud base with a stream of bad language. Even today’s more
scientific practice of peppering the odd dropsical looking chunk of vapour with chemical shot-
blast seems to be of dubious merit; and it seems that mankind is left with only one unfailing
means of inciting the heavens to discharge its watery cargo. The method is simple yet effective.
It is, of course, to hold a model meeting in the drought affected area.
(A contributor to this journal complains that "the modeller of today is not half as good a
sportsman as his pre-war contemporary� .)

I’m such a horrid little sport ;
A sort of model spiv,
Always on the make and take�
Never on the give.
And when it comes to dirty tricks
and loathsome little ways
They never saw the like of me
In the goody pre-war days.
At Wakefield comps I slyly put
A lead weight in the ’plane,
And when the judge’s back is turned
Whip it out again.
While if I see a rival’s job
Untended on the deck
One furtive kick is all I need
To leave the thing a wreck.
I’m such a horrid little sport ;
A model racketeer.
To urgent calls for "Timers"
I turn my deafest ear.
Unless, of course, when short of cash
I charge ten bob a flight,
With special stop-watch guaranteed
To give an out-of-sight.
I’m just a horrid little sport
Who "milks" the fuel cans
And begs and borrows dope and such
And other people’s plans.
But the only thing that puzzles me
And gives me pause for thought
Is why I took up model ’planes�
Such a horrid, little sport.
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A very SAD day for a 100 years old industry of AVIATION.
- Virgin fires more than 3,000 people including 600 Pilots.
- Virgin Australia files forBankruptcy.
-Thai Airways files bankruptcy.
- Air Mauritius goes into Administration.
- South African Airways Bankrupt.
- Finnair returns 12 planes and lays off 2,400 people.
- YOU grounds 22 planes and fires 4,100 people.
- Ryanair grounds 113 planes andgets rid of 900 pilots for the moment, 450 more in the coming months.
- Norwegian completely stops its long-haul activity!!! The 787s are returned to the lessors.
- SAS returns 14 planes and fires 520 pilots... The Scandinavian states are studying a plan to liquidate Norwegian and

SAS to rebuild a new company from their ashes.
- Etihad cancels 18 orders for A350, grounds 10 A380 and 10 Boeing 787. Lays off 720 staff.
- Emirates grounds 38 A380s and cancels all orders for the Boeing 777x (150aircraft, the largest order for this type).

They "invite" all employees over 56 to retire
- Wizzair returns 32 A320s and lays off 1,200 people, including 200 pilots, another wave of 430 layoffs planned in the

coming months. Remaining employees will see their wages reduced by 30%.
- IAG (British Airways� parent company) abandons the takeover of Air Europa (andpay�40 million compensation.)
- IAG (Iberia) grounds 56 planes.
- IAG (British Airways) grounds 34 planes. Everyone over 58 to retire.
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- Luxair reduces its fleet by 50% (and associated redundancies)
- CSA abolishes its long-haul sector and keeps only 5 medium-haul aircraft.
- Eurowings goes into Bankruptcy
- Brussels Airline reduces its fleet by 50% (and associated redundancies).
- Lufthansa plans to ground 72 aircraft (in 2 instalments).
- Hop is studying the possibility of reducing fleet and staff by 50%.

Additional info:
Currently, 60 new aircraft stored at Airbus with no buyers in sight (order cancellations) including 18 A350s.
They *forecast a minimum of 8,000 grounded planes by September*. With an average of 5.8 crews per plane (medium
and long haul combined), that would make *more than 90,000 unemployed pilots worldwide*
*The Air Transport Industry is on Life Support !*
Thiswill have a major impact on our lifestyle...the worst is yet to be witnessed.
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The fuselage frame, showing exhaust extension. Fuel tank made from 10cc syringe in location.

Tailplane and rudder showing locating system, carbon rodin rudder
aluminium tube in tailplanewith milliply rudder support and elastic band holder.

Rudder fitted to tailplane andshowing band holdersystem.
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Wing covered with doculam as is the tailplane.

Completed fuselage with radio gear installed and empennage attached.

Close up of front section of fuselage.


